Scanned by CamScanner



Which of the followin:

Horse traders

Settled agriculturists

Warriors

Which of the

collection of
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21. Whichofthe following Peshwe

had sign€d the ‘Treaty of Bassein”

with the British 7

(1)

Baji Rag ||
Madho Rgg
Madho Rao Narayan

Narayan Rao

Who was the

India during 1869
(1)
(2)
(3)
(4)

Lord Elgin

Lord Lawrence
Lord Mayo

Lord Northbrook
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37. Findthevajyeof. 41.

[(3%3*3x3x3x3)6. (3x3x3x
3)7 x 39 |

(1) 315
2) 3%
@27t
(4) 279 42.

Find the value

38. The sum of squares of two numbers - Ofv -

[is 225 and the difference between

the two numpers s 3. Find the two
numbers :

(1) 10and 7
12) 12andg
(3) 15and 12
(4) 17 and 14

39. What is the average of the |
numbers from 1 to 95 ?

(1) 475
(2) 48
(3 96
(4) 105

40. The ratio of the areas of two squares _
is 1: 4, What is the ratio of their

perimeters ? i
{2)1 :4. 1‘
) 1:8 ;‘
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5. shruti made a purchase of seve

54. If ‘air' is called ‘gre

NL-1D/11

number of three articles P, Q and
intheproportion 3 : 2 : 3 by paying
totalamount of Rs.4,800. If the unit
costs of the articles P, Q and R are
‘Rs. 200, Rs. 90 and Rs. 60
respectively, how many articles of Q
musthave been purchased by her ?
(1 8
(2) 10
3 12

numbers is 36, fi
(1) 60,72, 96
(2) 72,84, 96

(3) 72,684,108
(4) 72,96,108

called ‘red’, ‘red’ is cal
is called ‘blue’, ‘blue’ is
and ‘water’ is called ‘pin

will be the colour of gra

(1) Air
(2) Green
(3) Pink

(4) Red
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65. For the production of whic'h' of the
folloWing s the ‘Haber Process'

used ?
M Ammonia |
(2) Nitrates
(3) Potash
(4) Urea

86. Which type of chemical reaction is

responsible for turning the rocksred
or yellowish ?

-\3‘

(1) Carbonation

(2) Exfoliation

(3) Hydration

(4) Oxidation
67.~ Which among the follg

the ‘Fool's Gold’ ?

(1) Brass

(2) Coppersulphate

(3) Iron sulphide

(4) Silver bromide

68. Which among the following
in making windows for the
tubes ?

(1) Barium

(2) Beryllium
(3) Calcium
(4)  Magnesium

69.  Which of the following had not been
discovered by the time when
Mendeleev published his periadic
table ? ‘

Actinides
(12)

A
4
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g3. Which floral part in t

85.

86.

87.

88.

NL - 1D/11

produces the pollen grain
(1) Anther

(2) Ovary

(3) Petal

(4) Sepal

Animals : Haemoglobin - : Plants

(1) Caro_tene
(2) Cellulose

(3) Chlorophyll
Cytochrome

(1)  Ampicillin
(2) Chloramphen
(3) Paracetamol

(4) Penicillin

From which of the fol
is ‘Angora Wool' obtai

(1) Fox
(2) Goat
(3) Rabbit
(4) Sheep

Match each of the following fi
in Column™— A with the COrTeSpong
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